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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all the questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

Bl @ fow Fder

1 mm—w%ﬁﬂéawﬁt’wﬁuﬁﬁawwm
Rl Torlay |

P.T.0O.




——

208

Mm:}aﬂﬁﬂ’l
aaft A B T 3w ¥
< e - T 0 I SGH = o e O ST ¥ iy,

(a) “Wealth Maximization is a better criterion thyy
Profit Maximization”, Do you agree? Explain.

(b) “Financial management is more than the
procurement of Funds”. What do you think are
the responsibilities?

Or

Financial Management is nothing but the Financial
Decision Making on Asset mix, capital mix and the
profit allocation”. Elucidate the statement.
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2. (a) “Cash Flows of Different periods in absolute
Explain,

terms
9
arc incomparable”

(b) Find out the amount of deposit you require nowW to

receive Rs. 6000 a year for first five years and

Rs. 8000 a year forever thereafter, if invested at

10% p.a.

Or

(a) What is an annuity? How does an ordinary annuity

differ from the annuity Due?

(b) Mr. X deposits Rs. 6,00,000 on his retirement in a
bank on which interest is provided at the rate of
10% p.a. How much money in equal instalments
can be withdrawn annualIy for a period of 10 Years

for meeting his day-to-daiy expenditure?
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3. (a) State the similarities and differences between Npy
method and IRR method.

(b) Raja Ltd, desires to invest in a project which
requires an initial investment of Rs. 50,00,000, the
useful life of the project is 10 years with a salvage
value of Rs. 5,00,000 and will be depreciated on
straight line method. The profit before charging
depreciation is Rs. 10,00,000 p.a. The income tax
rate is 35%. Compute (1) NPV at 10% p.a. (2) o1
at 10% p.a. |

Or

: fa10NS
(2) What is capital Budgeting? Are these dectsto

Irreversible Do you agree? Explain.
aluatin®

(b) Compare NPV and IRR methods of BV
the capita] Budgeting proposal.
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(a) What do you mean by Weighted average cost of

capital? Is it that the market value weighs are

superior to the book value weights? Do you agree?
Explain.

(b) The company issues the 50,000, 12% debentures

P.T.O.
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of Rs. 100 each. The debentures are redeemable
after the expiry of the period of 7 years. The

company falls in the tax bracket of 35%. Calculate
the cost of the Debenture if debenture is issued

(1) at par (b) 10% discount (c) 10% premium.

Or

(2) The following information is given for Vinayak
Ltd.

Sales (variable cost is 70% of the sales) 80,000
EBIT 19,500
PBT : 9500
Tax rate 40% Calculate different type of

leverages. Also calculate the % change in EPS if

sales increase by 5%.

(b) Differentiate the business risk and the financial
risk of the firm. How are they measured by

Leverage?
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(a) What do you mean by operating cycle? Why it is

important in assessing the need of working capital

in affirm?
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- «plain the concept of 1 and 1
Exple ] of -

working capital.

(b)

Elry

or

(a) What do you mean by the working Capity |
: . a
management? Discuss 1S determinants.

(b) What do mean by the optimum dividend policy of
the firm? Explain the information content o

dividend payment.
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